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ool AR 2HYE S4 (S91:&8)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
Il 2,252,000
o= 178,200
01 IXESHHMBLEXS 2,430,200 2,423,000 7,200
Osg 230I=2A At 2,430,200
| 2,252,000
& 178,200
ZAIM0=dSUHKM=SHE HE(=21) 1,250,000 1,000,000 250,000
Xl 500,000
& 750,000
306 £ 3 1,250,000 1,000,000 250,000
Xl 500,000
o= 750,000
01 &893 1,250,000 1,000,000 250,000
OZ3=M=M==d Nz 1,250,000
Xl 500,000
& 750,000
HIAH Cistol= oteldy s (=1) 145,000 280,000 A 135,000
Xl 100,000
& 45,000
308 At XIHHMSOIH 145,000 280,000 A 135,000
Xl 100,000
o= 45,000
01 IXESHHMBLEXS 145,000 280,000 A 135,000
ORM42] M CHstel= otele =d 145,000
Xl 100,000
& 45,000
2 2 MSAH HEXA(=1) 1,040,000 1,000,000 40,000
307 2I2+0I A 1,040,000 1,000,000 40,000
03 SIAHMBHE2SHIEXR 240,000 240,000 0
ORM 133l H2AZ=HMS2H HEI XS 240,000
04 DI2FEHALAIRE B = 800,000 760,000 40,000
ORM 132l H2AZB=HMSAH HE XS 800,000
HHEshaty g4 3,806,000 1,775,000 2,031,000
Xl 2,254,000
< 1,552,000
HEESHate JIgt xRy 920,000 1,340,000 A420,000
202 044l 10,000 10,000 0
01 =LHOYI 10,000 10,000 0
O&CH 23Haty JIgtE S LI 10,000
307 SIZ2t0I A 400,000 300,000 100,000
02 QIZHAAMAIEE X 290,000 190,000 100,000
O3 J ety K& 190,000
OZH=MIFHXR 100,000




A 2at0l=n
M AARS0 WA UG ISL2E/2H0E)
el EH2sdty |4 (el &)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
03 BIAHMEE 2SI EXR 110,000 110,000 0
oZaaJ ety K& 110,000
308 At XIHHSOIH 510,000 530,000 220,000
01 IXESHHMBLEXS 510,000 530,000 220,000
O 2Xd dast = 500,000
OFUW AstM X 10,000
FESAII=(ICT) 858 0tz = 4 10,000 120,000 A 110,000
201 2 EH2EHI 10,000 20,000 A 10,000
01 AFR 22l bl 10,000 20,000 A 10,000
OF 23 222 (ICT ) 10,000
S e-AXZ =03 ZIIXS 15,000 15,000 0
308 At XIHHSOIH 15,000 15,000 0
01 IXEHBAEES 15,000 15,000 0
OthsSgl e-AX= 3 ZHIXA 15,000
Nedeta AE(=20) 1,007,000 300,000 707,000
N 775,000
o= 232,000
403 XXM S X201 & 1,007,000 300,000 707,000
Xl 775,000
< 232,000
01 AXESHMA2E R 1,007,000 300,000 707,000
o233t A ALY 1,007,000
N 775,000
o= 232,000
M RSHHE 2H(=21) 579,000 0 579,000
N 579,000
403 MRS S K201 A 579,000 0 579,000
Xl 579,000
01 AXESHMA2E R 579,000 0 579,000
O=TANMEB2SHEH =4 579,000
Xl 579,000
KNALSAMOICIHME XA (=2D) 260,000 0 260,000
Xl 200,000
T 60,000
403 XIS S AHE01 A 260,000 0 260,000
Xl 200,000
< 60,000
01 AXISHMA=E X 260,000 0 260,000
OXSLA0ICIoME HE 260,000
Xl 200,000
T 60,000
SN ZTLHAIS (=1) 1,015,000 0 1,015,000




o 0y Mo

2Holl= 1t
A23o FHH LI (SHAL2/230S)
HEsty =54

ol )

- _ - &4
- B E9(BH) - NEAY - BES Ofl &t o4 St HIBE2

Al 700,000
& 315,000

403 RAXISHSA=01 & 1,015,000 0 1,015,000
X 700,000
& 315,000

01 XM= E X 1,015,000 0 1,015,000
OHF23 A =4 435,000
X 300,000
& 135,000
OEFSHSHE N =S0I=2=T] 290,000
X 200,000
& 90,000
ogFEotetel230ts =4 290,000
X 200,000
& 90,000

SEE SAMY x4 13,422,000 2,929,500 10,492,500
D) 10,091,000
& 3,331,000

g4 2oti=E =4(21) 1,971,000 1,950,000 21,000
7l 1,516,000
& 455,000

403 NUHXIHHS =201 A 1,971,000 1,950,000 21,000
D) 1,516,000
= 455,000

01 XM= E X 1,971,000 1,950,000 21,000
OsAM2sllsE =4 1,971,000
7 1,516,000
& 455,000

] K-ZX 2= J¥Y FeH(=12) 1,570,000 979,500 590,500
7l 974,000
& 596,000

307 212tol & 868,000 570,000 298,000
D) 434,000
= 434,000

02 Ut HAHBE X 868,000 570,000 298,000
O8t= K-ZX Z8=x ZdH L3t 868,000
7l 434,000
& 434,000

308 AtXIEHMSOIE 702,000 409,500 292,500
7l 540,000
[ 162,000

01 IXHMBSEXS 702,000 409,500 292,500
O8t= K-ZX Z8=x ZdH L3t 702,000
7l 540,000
& 162,000

ZLOEHH A8 (=1) 9,881,000 0 9,881,000




SA: 201
A RS0 BHY YSHSHUBB/250S)
o9l ST SIAY X4 (S91:&8)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
Jl 7,601,000
& 2,280,000
403 RXIEHHSA=01 A 9,881,000 0 9,881,000
7l 7,601,000
& 2,280,000
01 XM= E X 9,881,000 0 9,881,000
OSTLOIEME 2AE 9,881,000
7l 7,601,000
& 2,280,000
2oF42 HAHH 2 - IS (2L 22/25M) 29,806,518 28,410,287 1,396,231
= 13,546,649
X 4,135,000
7l 1,257,634
= 10,867,235
EoRa0 FYIg BE - 1K 4,143,406 3,713,990 429,416
= 721,490
X 150,000
D) 1,257,634
= 2,014,282
AXE ZoH A=A 110,000 110,000 0
308 AtXIEHMSOIH 110,000 110,000 0
01 HIXHMBYELS 110,000 110,000 0
OAHZE= BN &=TAt 110,000
2N 25 - =4 603,500 348,000 255,500
202 o4l 3,000 3,000 0
01 2K 3,000 3,000 0
ORE23M 25 - 54 &2 =2 3,000
308 AtXIHMSOIH 600,500 345,000 255,500
01 IXHMBSEXS 600,500 345,000 255,500
Ok PE=aM ds=NH 455,000
OZEHL2HM 2&3 XN 40,000
OZEss &3 X2 40,000
oddorclgd 2554 10,000
O FEEM SHEA 55,500
RS2 dsetitg AL X2 20,000 20,000 0
307 el2tol & 20,000 20,000 0
02 UBHAIHE X 20,000 20,000 0
OZEFEEZM dsetity A XI& 20,000
A2 =24 46,000 46,000 0
201 €erE gl 40,000 40,000 0
01 At 22l 40,000 40,000 0
O=23eds 29 40,000




Zat0l=1
oA HAHH 2& -
ZatFaol Ao 2& - A CHel )
- @I EI(30) - MRAE - e 52
202 O4H| 6,000 6,000 0
01 =UWo 6,000 6,000 0
OZstmato 2 6,000
Z3M =clE20N & 11,000 12,000 A 1,000
201 2Er2gY| 11,000 12,000 A 1,000
01 At22t2ll 11,000 12,000 A 1,000
O==tM +cI2 11,000
23 d=XJ(21) 217,500 0 217,500
N 150,000
S 67,500
308 AtXIEHMSOIH 217,500 0 217,500
X 150,000
T 67,500
01 IXSHMBSEES 217,500 0 217,500
O4stAt =& =FUM X&A 217,500
X 150,000
S 67,500
SE2M 2 29 243 N (21) 155,295 213,498 58,203
= 107,100
S 48,195
308 AtXIEHMSOIH 155,295 213,498 58,203
= 107,100
T 48,195
01 IXSHMBSEES 155,295 213,498 58,203
OFRE=2sM d+-2ds Z2 )8 29g 155,295
= 107,100
S 48,195
llge 2dzel(21) 100,000 100,000 0
= 100,000
308 AtXIEHMSOIH 100,000 100,000 0
= 100,000
01 HIXHMBSELS 100,000 100,000 0
O===3 it 100,000
= 100,000
2t seHA 2F(21) 245,796 227,854 17,942
D) 189,072
T 56,724
308 AtXIEHMSOIH 245,796 227,854 17,942
7l 189,072
T 56,724
01 HIXSHMBSEXS 245,796 227,854 17,942
O==tM S2elMA 7= 245,796
D) 189,072
T 56,724




SN 230D
M B3R MAN B= - S (2L 22/23HM)
o9l 23260 FYI|Y BE - 2= (S91:&8)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
SASSM YHAIAYE 2x(=21) 366,058 328,226 37,832
| 310,725
& 55,333
308 A XIHHSOIH 170,403 132,720 37,683
| 150,990
& 19,413
01 IXESHHMBLEXS 170,403 132,720 37,683
O=JtXNEZsM Lst2elkt ESX 170,403
| 150,990
& 19,413
403 MRS S K201 A 195,655 195,506 149
| 159,735
& 35,920
01 AXISHMA2E L 195,655 195,506 149
O=tNE 23 MG XAIAE RS 195,655
| 159,735
& 35,920
IS 28 2A X (21) 521,500 451,500 70,000
= 298,000
& 223,500
308 AtXIHHSOIH 521,500 451,500 70,000
= 298,000
& 223,500
01 IXESHBAEES 521,500 451,500 70,000
OS2 MEE =AM X 521,500
= 298,000
& 223,500
MO0t BHE MY, S0 2EAY(2D) 228,000 249,300 £21,300
=2 152,000
& 76,000
308 AtXIHHSOIH 228,000 249,300 221,300
= 152,000
& 76,000
01 IXESHBAEES 228,000 249,300 221,300
ONE, 31 E2AY 228,000
= 152,000
& 76,000
HAISA S22 L EE(=21) 40,000 10,000 30,000
= 40,000
308 At XIHHSOIH 40,000 10,000 30,000
= 40,000
01 IXEHBAEES 40,000 10,000 30,000
OMHIRA S £ EE 40,000
= 40,000
23 SsSAE(21) 1,449,141 782,667 666,474




SA: 201
FE: 2R HAE 2 dAS(SSH2F/23H)
el Betmal FAgoig 2& - 25 (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
Jl 757,837
& 691,304
307 el2tol & 1,249,545 782,667 466,878
7l 624,773
& 624,772
02 Ut HAHBE X 1,249,545 782,667 466,878
O=3 M =AY 1,249,545
7l 624,773
& 624,772
308 AtXIEHMSOIH 199,596 0 199,596
D) 133,064
& 66,532
01 HIXSHMBMEXS 199,596 0 199,596
O23tM SEacAre 199,596
D) 133,064
= 66,532
Aegat pI=#AL X&(=12) 29,616 32,045 N2,429
= 24,390
T 5,226
308 AtXIEHMSOIH 29,616 32,045 A2,429
= 24,390
& 5,226
01 HIXSHMBSEXS 29,616 32,045 A2,429
OX AR L QISSAL X2 29,616
= 24,390
T 5,226
SAMWE+ 2 =23 25,663,112 24,696,297 966,815
= 12,825,159
X 3,985,000
= 8,852,953
Z3H 2+&H| 3,104,000 3,014,000 90,000
202 o4l 14,000 14,000 0
01 =UWo 14,000 14,000 0
o2 M 2484l =& 14,000
403 RXIEHHSA=01 A 3,090,000 3,000,000 90,000
01 HXSHMA2E xR 3,090,000 3,000,000 90,000
OXZE2sM =2+3H| 3,090,000
HEME BEXE (1) 2,248,080 2,343,750 295,670
= 1,498,720
= 749,360
308 AtXIHMSOIH 56,580 0 56,580
= 37,720
= 18,860
01 HIXHMBSELS 56,580 0 56,580




2M: 230l
HM: 2R MAN 2& - MS(2L2Z/23HM)
tel: 23MES ¥ 2RI CERED)
- _ — PoRE |
SA - ZH - ESA(E) - MRAY - BES 0l st St Rz
ONSAE YMAIAE SN2+ 56,580
= 37,720
= 18,860
403 MHXIEHS K201 2,191,500 2,343,750 A 152,250
= 1,461,000
= 730,500
01 XS A2EE 2,191,500 2,343,750 A 152,250
OTEANE BEXH 1,305,000
= 870,000
< 435,000
OTSAE YTHAIAE = 886,500
= 591,000
< 295,500
2D E 2 2+=FHI(=2) 14,333,532 18,088,547 23,755,015
= 11,326,439
< 3,007,093
403 XXM SA201H 14,333,532 18,088,547 23,755,015
= 11,326,439
= 3,007,093
01 XS A2EE 14,333,532 18,088,547 23,755,015
O=2DIXNHZ3 M B4l 14,333,532
= 11,326,439
< 3,007,093
EX AEM RSTAZ AE(2D) 1,477,500 0 1,477,500
Xl 985,000
< 492,500
403 XXM SA201A 1,477,500 0 1,477,500
Xl 985,000
= 492,500
01 XS A2EE 1,477,500 0 1,477,500
O=x MSAM FESEAZ UMY 1,477,500
Xl 985,000
< 492,500
QUL CIXE JIS2stea FESEAZ 2B (21 3,750,000 0 3,750,000
)
Xl 2,500,000
< 1,250,000
403 MtXIEHE X201 3,750,000 0 3,750,000
Xl 2,500,000
< 1,250,000
01 AXSHHA2Ex 3,750,000 0 3,750,000
ORQUMCINZEI =2 RL HESIHAI2AHE 3,750,000
Xl 2,500,000
< 1,250,000
24 30X 2SS A (2D) 750,000 0 750,000
Xl 500,000




SA: 201
FE: 2ERYS HAE 2 JAS(SSH2E/23H)
tel: 23MES ¥ 2RI CERED)
= - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
[ 250,000
403 MHRIHS 201 750,000 0 750,000
X 500,000
= 250,000
01 HXSHMA2Ex 750,000 0 750,000
o843t xcidg2 2 750,000
X 500,000
= 250,000
HY 2SI (20=) (O1EHIIE) 50,488 54,200 A3, 712
Jl=dl 50,488 54,200 A3,712
2A2E JI=234 50,488 54,200 A3,712
201 et gl 33,088 40,000 A6,912
01 At22t2lHl 33,088 40,000 26,912
ORA2g AtR22H| 33,088
202 o4l 13,200 10,000 3,200
01 =UWo 13,200 10,000 3,200
A2 A 13,200
203 YR=aY| 4,200 4,200 0
04 ENE2EERFAH 4,200 4,200 0
©30¢! Olat 350,000 122 4,200




